CHESS   Sat 30 July, 2005 
                                   David Ellis  9276 1822 / openfile@bigpond.com          1

Last week readers were introduced to the concept of  SELFMATE  Problems in which White forces Black to mate.  Here is a delightful example (A C White 1912).  White to play & force Black to mate in 2 moves (4 variations). It is obvious how Black will mate but how do you deprive him of possible king, knight or f pawn moves? 
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2005  WA  CHAMPIONSHIP:  Round 4 saw defending champion Haydn Barber relinquish his sole lead after drawing with Michael Kueh in a game in which the early exchange of queens and a single open file left neither player with realistic chances of winning. In a battle of the veterans Ray Johnstone and Wolfgang Leonhardt drew (Wolf won the last of his many state titles in 1972 with Ray’s best result runner-up in 1978) while in a battle of generations (an age gap of over 50 years) youth came out on top as Yita Choong accepted a gambit pawn, consolidated from a cramped position and won a second pawn to dent my championship hopes. Leading scores: Barber, Ganesh Viswanath, Choong 3.5, Tim Hare, Leonhardt, S. Kurniawan, Johnstone, Kueh, John Fedec 3.

At the age of 12 Yita Choong has had a meteoric rise through WA chess. He studies openings, a vital part of chess success, and is is also able to find his way successfully when faced with irregular openings. He thinks quickly and confidently and is able to defend well, an ability lacking in so many players. Yita appears to be the most promising young WA player since Stewart Byrne in the early 1970’s, Eu Jin Teh in the late 1980’s and Tristan Boyd in the 1990’s.  Here is his 1st round win against the tournament’s 4th ranked player.  Although somewhat fortunate to win he does show a strong capacity to absorb pressure:



          YITA  CHOONG   -   ROBERT  MARIS



               2005 WA Championship, Round 1



                               Sicilian Irregular



 1    e4  
c5  


 2    Nf3  
d6



 3    c3  
Nf6  


 4    h3  
Nc6



 5    Bd3  
d5 (a)  


 6    e5  
Ne4



 7    Qc2  
f5 


 8    exf6 
Nxf6



 9    Ng5  
e5  


10   Bxh7  
Qe7



11   Bg6+ 
Kd7 


12   Nf7 
Rh4(b)



13   g3  
Re4+! 


14   Kf1(c) 
b5(d)



15   b3 
Nd4!!(e) 

16   cxd4 
exd4



17   Bxe4 
dxe4 


18   Ng5 
Bb7



19   Kg2(f) 
Qe5 


20   h4 
e3+



21   f3 

Bd6(g)  

22   dxe3 
dxe3



23   Bb2 
Qxg3+ 

24   Kf1 
e2??(h)

a)  Safer is 5...g6. Book after 5...d5 is 6 e5, Nfd7  7 e6! fxe6  8 Ng5, Nf6  9 Bxh7! Nxh7  10 Qh5+, Kd7  11 Nxh7, e5  12 Nf6+, exf6  13 Qxh8, b6 with compensation. 

b)  A precarious spot but Black has a most imaginative attacking plan tempting White to trap the rook.

c)  White rejects 14 Bxe4, Nxe4  15 d3, Nxg3 hoping to win the rook for nothing.

d)  Providing an escape route via a4 which White immediately closes.

e)  A wonderful move giving Black a juggernaut of a pawn centre while White is undeveloped.

f)  White taunts Black to play the discovered check but 19 Kg1 also leaves Black with a massive attack. 

g)  21...e2 allows White to escape danger by 22 Na3! e1=Q  23 Rxe1, Qxe1  24 Qf5+.  

h)  A tragic blunder, giving up a major asset, the passed pawn on the 6th, the entry of the rook onto the open e file achieving nothing. Black could have played 24...b4! threatening 25...Ba6+ and if 25 Rh2, Ba6+  26 Re2, Qf2# or 25 Qe2, Ba6!  26 Qxa6, Qf2#.  Black is now driven back and loses quickly after 25 Qxe2, Re8  26 Qf2, Qf4  27 Nd2, Nd5 28 Nde4, Ne3+  29 Ke2,  Nf5  30 Rag1, Nh6  31 Bxg7, Nf7  32 Rg4, Qf5  33 Qe3, Ne5  34 Rf4, Qg6  35  Nf6+ resigns

CHESS ASSOCIATION  AGM:  all members are encouraged to attend the CAWA AGM at 7.30pm, Monday August 1 at Legacy House, Mill Point Rd / Frasers Lane, S. Perth.

SOLUTION:  1 Bf5+! (this prevents the f pawn from moving): now Black has 4 replies which are met by 4 different promotions: a) accepting the bishop sacrifice by 1...Kxf5  2 hxg8=Q : b) taking the rook with 1...Kxh5  2 hxg8=N:  c) 1...Kf7  2 hxg8=R:  d) 1...Kg7  2 hxg8=B.  The knight is pevented from moving by capture & the king is stalemated, leaving the only move 2...Bxg3#. 

